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tuttu3ueu3hL tu3bsnluquL q UcsnLLbn

A tru drullpfl qbllur Llt-u n h lu n nh! rlu,W'L L 420 000 /+/.u uul

5 lu rluttrph nbUutlu nh oqLurt.lu! L 385 UUU

6 rf npbuqbun 4 250 000 UUU
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2 elfuutlnp du 2 300 000 600 000

3 Untugurnup dtuuLuqbtn 4 220000 880 000

4 1-hL Uunqh duultuqbm 8 190 000 1 520 000
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$ filt tult u u nlt n b u u qfi m u Q wh, b Q w {n unh h p lt
hut2tlut n[uh, h tu(utptuqp [uh b qlt n ulb b p fi

Pudhlt
J. Pwdltfi qbn 1 400 000 400 000

2 4lJuwtlnp [wuUwqbm 3 300 000 900 000

3 Unwgwnwp tfwultwqbm 12 220 000 2 640 000

4 L-hlt Uwpqh t[wubwqtn L0 190 000 1 900 000
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1
! pwdltfi t4bm 1 400 000 400 000

2 qfuwqnn [wuUwqbn 4 300 000 300 000

3 Unwgwmwp [wultwqbm 4 220 000 880 000
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2 u pqug [wlt 6 p u qpb p lt, n n qfi qdft,tu nLm pfi lt
u u4ru utu pQtftuh ptudhlt

T FLudUh r4bu T 400 000 400 000
1Z a1fuu{np duuLtuqbm z 300 000 600 000

3 Unru 9tu mu p Lfiu uLuqbrn 2 220 000 440 000

4 L-hL Uunqh rltuultuqbut L 190 000 380 000
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1. PudLI qbm 1 400 000 400 000

2 qlluLuLlnn duuLuqbun 1 300 000 300 000

3 Unu.rgumup druuLuqbm 5 220000 1 100 000 i

4 1-hU Uunqh Jruultuqbm 10 190 000 900 000
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1, a1fuu{np duuLruqbrn 1 300 000 300 000
1
L aLfuu{nn tftuulruqbun PqUq 1 166 583 166 583

3 Unugumup druuLuqbun 5 220 000 1 100 000

4 1-hL Llunqh duuLuqbrn 1. 190 000 190 000
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1 iurlLuptlnurn
'1. 120 000 120 000

2 120 000 240 000

2 .rlr.uhrull 2 120 000 240 000



3 an nbur tlur n/u rldfrL fr u m p u Ln n n I 220000 220000

Qnpbuttltup t 180 000 1_80 000

Qnpburrlrup 3 170 000 510 000

5 .tupnp4 t 300 000 300 000

6 .Lupnp4 t 300 000 300 000

8 tLbllunhtt 0,5 215 000 107 500

9 SUunbu{tup L 120 000 1_20 000
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1. Ul"ruuLupnr-.1d 8 120 000 960 000

2 Un lu htlh qum u ufu utlttutn n I 1 205 000 20s 000

3 LUunht-oqbpumnp 'J. 180 000 1.80 000
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